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PREFACE

In the curricular structure introduced by this Unmiversity for students
of Post—Graduate degree propramme, the opportunity to pursue Post-
Graduate course in a subject is introduced by this University is equally
available to all learners. Instead of being guided by any presumpiion about
ability level, it would perhaps stand to reason if receptivity of a learner ia
judged in the course of the learning process. Thal would be entirely in
keeping with the objectives of open education which does not believe in
artificial differentiation.

Keeping Lhis in view, study materials of the Post—Graduate level in
different subjects are being prepared on the basis of a well laid-out syllabus,
The course structure combines the best elements in the approved syllabi of
Central and State Universities in respective subjeets, It has been so designed
as to be upgradable with the addition of new information as well as results
of fresh thinking and analysis.

The accepled methodology of distance education has been followed in
the preparation of these study materials. Co-operation in every form of
experienced scholars is indispensable {or a work of this kind, We, therefore,
owe an enormous deht of pratitude to everyone whose tireless elforts went
into the writing, editing, and devising of a proper lay-out of the malerials,
Practically speaking, their role amounts to an involvement in ‘invisible
teaching”. For, whoever makes use of these study materials would virtually
derive the benefit of learning under their collective care without each being
seen by the other.

The more a learner would seriously pursue fhese study materials the
easier it will be for him or her to reach out to larger horizons of a subject.
Care has also been taken to make the language lucid and presentation
attractive so that they may be rated as quality self-learming materials. If
anything remains still obscure or difficult to follow, arrangements are there
to come to terms with them (hrough the counselling sessions regularly
available at the nelwork of study cenlres sel up by Lthe UUniversity.

Needless to add, a great deal of these efforts are still experimental—
in [acl, pioncering in certain areas, Naturally, there 1s every possibility of
some lapse or deliciency here and there. However, these do admit of
rectification and further improvement in due course, On Lhe whole, theretore,
these study matermals arve expecled to evoke wider appreciation the more
they receive serious attention of all concerned.

Prof. (Dr.) Subha Sankar Sarkar

. Vice-Chancellor
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UNIT 10 GRAMMAR—TRADITIONAL, STRUCTURAL
AND GENERATIVE MODELS

Structure
1.0 Introduction
1.1 The Traditional School of Linguistics
1.1.1 The Latinate Fallacy
1.1.2 The Semantic Fallaecy
1.1.3 The Logical Fallacy
1,1.4 The Fallacy of lack of explication
1.,1,5 The Fallacy of mixing up different eriteria
1.1.6 The written form Fallacy
1.1.7 The Prescriptive Fallacy
1.1.8 The Fallacy of ignoring language variation
1.2 Summary

1.3 Review Question

1.0 INTRODUCTION

In the carlier modules we have talked about linguistic units like phoneme,
syllable, morpheme and word. You have also been made aware of how these
elements funclion within the overall framework of a linguistic system, The various
linguistic processes at different levels of linguistic reality which involve these
linguistic units in a complex and c¢reative network of functioning have also been
introduced to you. And we hope that you are getting more and more fascinated
in discovering the various levels of linguistic communieative operation in a human
language which we use and understand so easily and which is so casily taken
for granted.

The moment we lake o serious look into this apparently simple human entity
called language we begin to realize how complex this system is and how creative
and communicatively effective this mechanisin is

We will now move upto the level of Grammar. At this level our concern'is with
the way words arve structured and organized into higher units ke phrases,
clauses and sentences. At this level we will bave to explain issues like linear
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relations between constituents of sentences along with the hierarchical
interrelations between constitutents. We will have to answer questions like why
‘Poor John ran away' is a possible sentence in English but * John poor away ran’
is not a sentence.

This will lead to a close study of

(a) various kinds of Grammar, and

(b} traditional, structural and generative models of Grammar.

In this course on syntax we will try to eapture the structure of phrases (like
noun phrases, adj phrases, adverh phrases, prepositional phrases, verb phrases,
verbal groups), and clauses as well as sentences (ke the simple sentence, the
complex sentence and the compound sentence). And in doing so we will present
the models of syntactic analysis of all the three paradigms of language study —
the traditional, the structural and the transformational generative,

1.1 THE TRADITIONAL SCHOOL OF LINGUISTICS:

The term traditional in linguistics today is used as almoest a blanket term
covering aboul 2500 years of language study beginning wilh the pre-Socratic
philosophers till the beginning of the 20" century, i.e. the time of Ferdinand de
Saussure. During this vast span of language study we had the Greeks, the
Romans, the 13% century Scholastic philosophers/Speculative grammarians, the
17% contury Port Royal Grammarians in France, the great 18" century grammarians
Leibniz and Sir William Jones due to whom we had the famous 19" century brand
of linguisties known as comparative philulogy. Alongside this scholarly tradition
of traditional linguisties we also had a tradition of school grammars which Lried
to capture the structural essence of linguistic configurations in human languages.
When we refer to traditional grammars and their limitations we precisely mean
this school tradition of grammars.

Traditional grammar, thus defined, did present a model of linguistic analysis
which had a number of intrinsic weaknesses and limitations which are now known
as fallacies in traditional grammar. In fact, the traditional model of syntactic
analysis has been rejected because of these fallacies.

1.1.1 THE LATINATE FALLACY :

The traditional grammarians of English borrowed Latin grammar as the model
for deseribing English or any other language. As a resull, the grammar ol English
was written without any in-depth study of the linguistic facts of English. The
English version of Latin grammar passed on as the grammar of English, For
example, Latin has six case forms — Nominative, Vocative, Accusative, Genetive,
Dative and Ablative. And as case is an inflectional category il is marked on the
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nouns in Latin. The traditional grammarians of English maintain that English also
has six case forms, though actually we have two case forms for English nouns —
John (unmarked case) and John's (marked or possessive case) — and three case
forms of English pronouns — he, his, and him (nominative, possessive and
objective respectively). This shows that the case system of English was burrowed
from Latin and impesed on English, The underlying belief was that languages
belonging to the same family would have similar features, structures, and
grammatical categories.

This fallacy of using the grammatical model of one language for the description
of another is known, therefore, as the Latinate fallacy. Modern linguists would
say every language is a unique system and, therefore, it has to be studied in its
own right and merit.

1.1.2 THE SEMANTIC FALLACY :

The traditional grammarians’used meaning in the definition or description of
grammatical categories. This use of meaning as a tool or criterion in linguistic
description makes grammar unscientific because meaning itself cannot be
scientifically captured. Meaning is vapue, context-bound and subjective.

Let us consider the definition of an interrogative sentence in traditional
grammar. “An interrogative sentence is one that asks a question.” Now, a sentence
like “Could you ‘pass me the salt? is an interrogative sentence as we all know,
But does it ask a question? Of course, not. It is actually making a request. The
point 1s that such meaning-based definitions are misleading, fallacious and
therefore, unscientific. The definition of an interrogative has to be form-based or
structure-based and not meaning based, This is true of many definitions in
traditional grammar being only meaning-based and thus fallacious.

1.1.3 THE LOGICAL FALLACY :

The traditional linguists held that the rules of gr:immar should be governed by
the laws of logic. This belief they inherited from the speculative grammarians of
the Middle Ages who thought that human language mirrored the universe and
because the principles of logic governed the universe, they governed language also.

But we find that in every human language there are expressions/utterances
which may not be considered valid from the point of view of logic. Expressions like
‘rounder’ or ‘more perfect’ are very common for the speakers of languages (as in
English) though they are not logically valid (as something can be either round or
not/either perfect or not). Therelore, such expressions by the native speakers of a
language are linguistically well-forined and acceptable, irrespective of their logical
validity., In English, the traditional grammarian’s ohservation that it has three
tense forms — past, present and future — is an example of logical fallacy. As there
are three times — Past, Present and Fulure — there has to be three tenses. But we
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know that English has no future tense; futurity is expressed with the help of
various linguistic devices, like the use of modals, like shall or will, etc, Tense is
an inflection and there is no future tense marked on an English verb.

In Bangla, for instance, we have three tenses —

Khai — eat (I eat)
Khelam — ate (] ate) -
Khabo — shall eat (I shall eat)

And all the tenses are marked on the root verb Kha as inflections. Bul in
English we have only the Present and the Past tense. The logic that three times
will have to be represented by three tenses is not linguistically validated.

Please note here that this traditional statement regarding three tenses in
English is also an illustration of Latinate fallacy as well as semantie fallacy.

In modern linguistics we say that there need not be always a one-to-one
correspondence between tense and time. Time is a semantic category and Tense
iz a prammatical category and there may not be a logical one-to-one correspondence
between the two. This is true of sex and gender and countability and number,

1.1.4 THE FALLACY OF ‘LACK OF EXPLICITNESS’ :

Many definitions or descriptions in traditional grammar are not explicit. In
other words, they-are not clearly, precizely and unambiguously stated. For
example, let us take Jespersen's definition or description of subject (and also
predicate) in his famous book Essentials of English Grammar :

“In such a simple sentence as The dog barks and naturally also in clauses
like that the dog barks or when the dog barks — we call the dog subject and
barks predicate”,

The grammarian’s description of the notion ‘subject’ is inexplicit and yet he
assumes that the reader/learner understands what a '‘Subject’ is.

1.1.5 THE FALLACY OF MIXING UP DIFFERENT
CRITERIA : :

The traditionalists mixed up various criteria in their deseription of grammatical
items and structures. Sometimes they used semantic eritieria, sometimes formal
and sometimes functional. Depending on the context, they would describe the
same item in different ways and assign it different categorical status, For
example, they would describe ‘science’ as a noun, let us say, in a structure like
He's studying science and would call it an adjective in a structure like Ie is
studying in science college because in the latter sentence seience functions
as a modifier of the noun college. Thus they mixed up different eriteria leading
to a descriptive framework which does not remain seientific. Modern linguists,
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therefore, reject such a framework and they are in favour of a consistent and
formal set of criteria for defining different word-classes.

1.1,6 THE WRITTEN FORM FALLACY :

The traditional linguists used the written form of the lanpuage as their data
and therefore, their description of a language was the description of the writien
form of the language. The spoken [urm was completely ipnored. From the modern
linguisl's point of view, this is a fallacy because specch is primary and the written
form is only a codifieation of speech. This fallacy led to the neglect of phonology
in traditional grammar. You will perliaps remember that we have already said
that the traditional linguists dealt with two basic unils in languape — word and
sentence,

1.1.7 THE PRESCRIPTIVE FALLACY :

The traditionalists prescribed, in many cases, fhe norms of language use for the
native speaker. Forexample, many prammarians had sugpgosted that splitinlinitives
should be aveided. But many native speakers use this structure; they would prefior
‘to kindly grant me’ to ‘kindly to grant me', A grammarian’s job is to observe data,
Le. a native speaker’s speech and then describe it faithlully and scientifically
instead of preseribing norms for the speaker. In other words, linguisties, according
to the modern linguists, should be descriptive and not prescriptive.

1.1.8 THE FALLACY OF IGNORING LANGUAGI
VARIATIONS :

The traditional prammarians considered language ‘monolithic’. They ignored
different varieties of the same language - dialectal and register varicties and paid
attention to only one variety, the written language of great literary writers of the
past. This is a huge fallacy because language is what people speak and all
varieties of a language need to be scientifically studied.

1.2 SUMMARY :

We have louched on some of the major fallacies in traditional gramnbar. Tnis
we did in order to make you understand why this model of linguistic description
was later discarded by the structural linguists of the 20% century.

The traditional grammarians thus gave us a model of linguistic deseription
which was based on ‘parsing’. They deseribed the parts of speech, grammatical form
and function of a word in a particular senlence and then divided sentences into
parts (i.e. different constituents, phrases, clauses, ete.) and described their
grammuatical forms and functions by capturing their syntactic interrelations.
Though they came under severe eriticism from the structuralists (1920-1960) they
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presented a model which, in spite of its intrinsic limitations and the fallacies in
practice, did have insights that were used by the linguists after the structuralists.

The traditional grammarians used meaning and intuition in their descriptive
framework as a tool but later linguists like Chomsky and the Chomskyans did
utilize the native speaker’s intuition as data, though not as a tool in their
framework. g _ .

The structuralists’ severe reaction against the traditionalists made the
pendulum swing to the other extreme and it appears that the traditionalists’ lack
of “scientificness” made the structuralists ‘scientific’ with almost a vengeance and
in the later units we will look into this ‘scientific’ model of syntactic analysis in
some detail and see what sort of reaction they attracted from their successors in the
field, namely the transformational generativists,

As the course proceeds we will keep on seeing all these paradigms of the 20t
century and affirming the ancient truth about science : The history of any science
is a history of successive modifications. And when the modifications can no longer
explain the truth a scientific paradigm is discarded and replaced or superseded by
another.

1.3 REVIEW QUESTION 1
(a) What is meant by a ‘fallacy’?

(b) Answer in one or two sentence(s) what you understand about the following;
(i) Latinate fallacy
(ii) Written form fallacy
(1ii) Logical fallacy.
(c) What fallacies of traditional grammar would you associate with the following
statements?
(i) Noun is the name of a place, person or thing.
(ii) ‘Idon’t{ind none’ — this sentence moeans ‘I find someone’ because two
negatives make an affirmative.
(iii) Shall and will are markers to prove that English has a future tense..
(iv) A speaker of English should say “It’s I” in place of It’s me.

(d) What role does meaning play in traditional prammar 7
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2.2.7 Morphological representation
2.2.8 Compounding
Morphophonemics

2.3.1 Alternations

Summing up

Glossary

Review Questions

Bibliography

2.0 OBJECTIVES :

This unit will enable the learner to —

a.
b.

understand the basic concepts related to the morphological analysis of words,

understand the characteristics of morphemes and how morphemes combine
to form words,

analyse the composition of words by identifying prefixes and suffixes,
distinguish between inflectional and derivational processes of' word formation,

. know how inflectional affixes ereate new words within a paradigm and how

types of meaning are often indicated with inflection,

know how derivational affixes create new words belonging to different
paradigms,

. distinguish between class-changing and class-maintaining derivational
| processes,
. understand aspects of morphophonemics, how morphology and phonology

interact and how morphemes can be phonologically determined,
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i, know about allomorphs and their environment,
3. learn how to solve morphological problems,

k. give judgements on whether an analysis is right to capture the morphemic
interrelations, and

l. identily il there is any ambiguily in the morphological make-up of a word,
In other words, the student will learn about the word formation processes,

Besides, the student should learn to identify allomorphs of a morpheme and
write a rule to show their distribution, i.e. learn to sulve morphophonemie prohlems.

2.1 INTRODUCTION :

As we are aware, the grammar of a language consists of different components
such as phonology, morphology, syntax and semantics. A language shows systematic
organization at different levels and each component needs to look after a particular
level, For example, the phonological component takes care of the phonological level,
showing how the sounds of a language are organized, The syntactic component
deals with different sentential patterns by capturing the interrelation between
different constituents (parts) of sentences and also by showing the processes
involved in the transformation ofone type of sentence to another. The morphological
component, which is our concern in this unit, is related to the structure of words.
We would sce here, how different parts of words are organized in a particular
language.

The term ‘morphology’ reminds us of words like ‘biology’, ‘psychology’, ‘physiology’,
‘chronology’, ‘philology’ ele. We all know that the sound sequence - lopy means “a
branch of study”, Thus ‘psychology’ means a branch of study dealing with human
psyche, L.e. mind. Similarly the other words denote differcnt branches of study. You
might be wondering, why a branch of study dealing with the structure of words ig
called ‘morphology’ and not something like, say wordology! Well, to answer this, we
need to know about semething ealled ‘morphemes’. Betore that, just refer to your
section on phonology, We have seen that in the phonological component, the
minimal units of the sound system of a language are called ‘phonemes’. Similarly
the morphological component, which deals with the words of a language, is built up
on its minimal units, These units are called ‘morphemes’, To put it in a different
way, ‘morphemes’ are the minimal units of which the words ol a language are
construcied. A morpheme can be desceribed as the smallest linguistic unit which has
a meaning or 4 grammatical funetion,

Before we proceed further, let us look at some examples, Consider the following
three words : unclear, unhappy, and uncertain, Notice that these three words
have something in common. They all share the sound sequence un-, which means
something like “not”, Un-is a morpheme; the remaining part of each of these words
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is also a morpheme. All words consist of one or more morphemes. The word boolk
consists of just one morpheme. The word bookish, however, contains two (book
and -ish), and unfaithful contains three (un-, faith and -ful).

Now look at the following sound sequences under sets A and B, which are
impossible words of Enghsh :

A, *clearun, *happyun, *certainun, *nesshappy, *lyclean, *ingread

B. *unhouse, *unbook, *unpoetato, *penness, *badly, *cowing

(Itis a convention that the symbol #(star) 15 used before a wrong or ungrammatical
word or strueture you will see its use in your lesson on syntax also.)

What observations can we make from here? The examples in A show that
morphemes don’t just combine at random order. As language users, we know
something about the morpheme order. We all know that the correct combinations
of morphemes in set A would be ;

unclear, unhappy, uncertain, happiness, cleanly and reading
The examples in B show that we also know something about the types of
morphemes that are able to join together, While un- can be added to the adjectives

clear, happy and eertain, it cannot be added to the nouns house, book and
potato.

Similarly, -ness, -ly and -ing cannot be added to nouns such as pen, bed and
cow, This unit on morphology will take you to the finer detaila of the components
of words as well as the word formation processes. Here you will learn about
marphological processes and how these processes can modify a word’s structure by
adding or changing an element. '

The pronunciation ol a morpheme can sometimes vary depending on the context
in which it appears. The indefinite article in English, for cxample, is an before
words starling with vowels, but a elsewhere. A and an both mean exactly the same
thing. They both represent the same morpheme, It isjust that the precise realization
of that morpheme varies according to the context. A and an are allomorphs of the
same morpheme,

Some affixes can be added to almost any word of the appropriate word class,
others are much more restricted. The affix -er, for example, can add to almost any
verb to mean “one who does”, Examples are analyser, driver, publisher etc. We can
gay that -er is a very productive affix. If we were to invent a new verb pliek, it
wouldl be possible to use the word plicker lo mean “one who plicks”.

On the other end of the continum is the affix -th, This can be added to a very
restricted set of nouns, e, truth, warmth, width. But it is impossible to expand
that set, We can’t talk about the straightth or purpleth of an object, -th is not a
productive affix. In the later subsections we shall discuss different types of affizes
and their role in the making of new words, We shall also see how bigger words can
be made of smaller words,
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2.2 TOPICS IN MORPHOLOGY :

2.2,1. THE SCOPE OF MORPHOLOGY IN RELATION TO
THE OTHER COMPONENTS OF GRAMMAR

Morphology is the system that governs the structure of words and the construction
of word forms. Morphemes are units of meaning. The word dog contains one
morpheme, Now, if you add “-s".to the word dog, it becomes dogs. The word dogs
contains two morphemes. They indicate the following :

(i) an animal that barks
(11} more than one in number.

In very general terms, morphology is concerned with the internal make-up of
words. To illustrate the fact that Enghqh words have structure, conzider the
folowing sentences:

a, The fearsome rats attacked the foolish cat.
h. The fear-some rat-s attack-ed the fool-ish cat,

A number of points can be made about this segmentation of words, Firstly, words
can clearly be grouped depending on which suffixes they can and cannot take. The
following constructs are Ohvlousl}r ill-formed :

e. *fear-ish

*foolsome
*cat-ed
*man-5

On the other hand there are lots of words like cat which take -s to form a plural
and which may therefore be put together as a class which excludes man, child, and
80 on.

The above evidence shows that words are made up of identifiable sub-parts.
However, their interrelation is arguable. For instance, the word re-employ-able
seems to have three constituents, We can ask how exactly the segmentation should
be represented, This is because there are alternative ways of doing it as the -
following structures suggest :

a. />\ b.
Re (employ able) (Re employ) able

Thus we can think of the make-up of the word in two ways :

(i) as having the part re- added to employable, or
(i1) ds the part able added to re-employ.

And it is likely that these morphological differences will have semantic
implications, Many languages have much more complicated word structures than
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English, and the question of internal word structure in such languages can be very
intricate.

For our purposes, it is enough to note that words appear tobe segmentable. The
parts are called morphemes, and these can be grammatical {(such as the English
plural «s suffix) or lexical. One way to think of morphemes is as the smallest units
of grammar, but it must be emphasized that they are theoretically seen as quite
abstract concepts — in the English verb saw, for instance, we seem to have the
lexeme’ (the ‘semantic unit’) 'see’ and the grammatical morpheme past in a 'fused’
state,

Morphology is the study of how words are constructed, just as syntax is the study
of how sentences are constructed. Morphology has a close connection Lo phonology,
since words are made up of' phonemes as well as of morphemes, and the phonological
shape of a morpheme may depend on its phonological environment. To understand
this point, let us consider the following words ;

cat, dog, horse.

We know that

The first word has three phonemes @ /k/, i/, it/
The second word has three phonemes | /d/, fo/, /g/.
The third word has three phonemes : /h/, /2, /sf.

Now, if a plural marker iz added to each of them, its form will be different ineach
case. Try saying aloud; cats, dogs, horses, Don't you notice that in the first word the
plural marker sounds as/g/, in the second word, the plural marker sounds as /2/ and
in the third one the plural marker sounds as /iz/? In our lesson we will call this
plural marker a ‘morpheme’, which is a meaningful unit of word formation. The
question is, why does the same unit have different phonological shapes? And the
answer is that here the phonological shape of the plural marker depends on its
phonological environment, See the final segment of each of the words : /t/, /g/ and /
s/ respectively, i.e. a voiceless stop, a voiced stop, a sibilant. It is the phonological
feature of the final segment of the existing word that determines the phonologieal
shape of the plural marker (a morpheme), This is how we understand the relation
of morphology with phonology, We will discuss this in detail in the section on
morphophonemies.

Morphology has a connection to syntax also, since the internal structure of a
word may depend in part on its syntaclic environment; and it has a conneetion £o
semantics, since the meaning of a complex word is a function (sometimes a very
interesting function) of the meanings of its parts. We shall talk about it in the
subsection on compounding,.

2.2.2 MORPHEMES, MORPHS, ALLOMORPHS :

In the subsection 2,1 above we have seen that morphemes are the minimal
meaningful units of which the words of a language are composed, One word may
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have one morpheme or more than one morpheme. Each morpheme has its
characteristic features regarding the f{ollowing :

@ what its phonological shape is (or shapes are), in case of more than one
manifestations

® what its environment is (what should it get attached to)

® what ils meaning is

® what its class (part of speoch) s,

According to these features morphemes operate in the system of a languape,
Each morpheme has these features fixed when it is included in the loxicon of a
language, A speaker's knowledge ol a morpheme would be determined when s/he
has the implicit knowledge of all these features.

Now we need to understand morphemes in relation to two notions : morphs and
allomorphs. A morpheme can be represented by more than one forms. By ‘forms’
we mean phonological or orthographic representations, In simpler terms, by the
shape the sounds take in pronunciation or the shape the letters take in spelling. Let
us try to understand this idea of shape or representation, Look at the following
words and their pronunciation ;

Spelling Pronunciation
Cals kot 5
Dogs dog #
Horses ha 5. 1%

We all know that the letter ‘s’ in the left hand side column stands for plural, But
notice how the same plural is represented in the pronunciation. They arve /s/, /2/ anid
fiz/. Remember, all three of them mean the same:'plural’. Now which one of them
should be called a morpheme?

The answer is, they all are representations of the morpheme for ‘plural’. And
these representations are called ‘morphs’, So, the plural morpheme in English has
three morphs: /s/, /2/ and /iz/, And they are allomorphs of one another.

Consider another example. Look at the following rows :

Singular Plural
Spelling Pronunciation Spelling Pronunciation
Index findeks/ indices indis. iz
House ‘haus/ houses hauz. o=z
Knife {naiff knives naiv, z

In general, a noun in its plural form is obtained by adding the plural morph with
the siﬁgulur form, isn't it? F'rom these four rows above you are clear that the plural
morphs are /-iz/, /-82/ and J-z/. And they are allomorphs of one another, But there is
something else Lo notice. See the following two rows:

18



A B

findels/ findis/
fhaus/ fhau/
fnaiff fnaiv/

Now what does /indis/ mean in the word, /indisiz/, if you leave out the plural morph
f12/? T means the same asfindeks/, isn'Lit? So, findeks/ and findis/ are the representations
of the same morpheme, They are morphs and their relations are allomorphic. The same
relationship exists between /haus! and Mhaus/ or fnailf and fmaiv/.

2.2.3 FREE AND BOUND MORPHEMES :

We have understood from our discussion so far that words are made up of
morphemes. There may be one morpheme or more than one morpheme constituting
a word. When one morpheme makes a word, the word and the morpheme are
identical in-shape, Thus some morphemes are used as words, and they can freely
oceur by themselves, with no other morpheme attached. These morphemes are
called ‘free morphemes’. Words such as red, dog, rice, and good are examples of
free morphemes. The other type of morphemes can never occur alone, they always
have to be attached to another morpheme, These morphemes are called ‘hound
morphemes’, Thoy are also called ‘affixes’. Un-, pre-, -ish, and -ness are examples of
bound morphemes. Among them, un-and pre-are ‘prelixes’ because they attach to
the beginning of free morphemes. The other two, -ish and -ness are ‘sufllives’ they
attach to the end of free morphemes,

We can define them in the following way :

Free morpheme : A morpheme which can be used on its own as (what we
traditionally know as) a ‘word’, is called a free morpheme. For example, chair, slow,
~oat.

Bound morpheme : A morpheme which cannot be used on its own is called a
bound morpheme. It is used only as an affix in conjunction with a free morpheme.
For example, -s in chairs, -1y in slowly, -ing in eating.

2.2.4 ROOTS AND STEMS :

We have seen the two types of bound morphemes of affixes. Now let us concentrate
on the different states of free morphemes. They are roots and stems.

Root : A morpheme within a word that carries the main lexical information is
called a rool. For example, go is the root in the word going, possible is the rool in
the word impaossible, method is the root in the word methods, To define it
structurally, in the composition of a word, the root is the ultimate free morpheme
which cannot be split further into any meaningful units. The root is the central
morpheme, which remains intact after all the suffixes and prefixes are removed.

In concatenative morphology, the root is the unit that provides the core meaning
and to which atfixes may be attached.

Stem: In'coneatenative morpholopy, the stem is the unil, root + alfix, to which
affixes are attached.
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“A stem is any morpheme or combination of morphemes to which an affix can be
added.” (Gleason 19565:59)

Let us analyse the word unfriendly in terms of root and stem.

Composite form

Stem

rat

Profix Root Suffix
Un- friend -ly

(Plural markers such as -5, -es or tense markers such as -5, -es ete. are
inflectional affixes). A root can also be stem but a stem is not always a root. The
point will be clear as we deal with more examples.

Before we proceed further, let us see the make up of the word readers:

Readers= reader + s
Reader= read + er
Read: cannot be divided further

Here, the root is obviously read since it cannot be divided further in terms of any
meaningful units. :

Thus the word reader is a stem consisting o f the root read and the derivational
suffix (elaborated below) -er, An inflectional suffix, the plural marker -s can be
added to it. 5o, to identify the stem from the word readers we need to romove the
inflectional suffix -s (plural marker) and we will get reader, which is a stem, In a
different context, if we have to identify the stem in the word reads, we must note
that it is a verb and the inflectional suffix that needs to be removed is the present
tense marker -8, Therefore, the stem is read, It is also a root.

Following is a comparison of root and stem ;

Root Stem

1. All roots can be stems. For | 1. All stems are not roots. For example,
example, portray is a root, It is portrayal is a stem, but it is not a
also a stem. - root,

2. A root is indivisible in terms of | 2. A stem is not necessarily indivisible
any further morphemes, For in terms of any [urther morphemes.
example, arrive cannot be For example, the stem arrival can
divided further, it is a root. be divided further into two

morphemes : arrive and -al,

Before we proceed to the following subsection, look at the Exercise no. 3 and see
if you can do 1t.
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2.2.6 INFLECTIONS AND DERIVATIONS :

We can distinguish between two types of affixes : inflectional affixes and
derivational affixes, Derivational affixes create new lexemes (dictionary words).
When you add -ness to happy, you happen to create a new word. Happiness
means something different from happy, and would be listed separately in a
dictionary, When you add -er to write, you create a new word. Writer refers to a
person, whereas write denotes an action. Derivational affixes can also change the
part of speech of the word they add to. The suffix -er, for example, creates a noun
out ofa verb. They do not always change the part of speech of the word, though, Un-
is a derivational affix. Unknown means something very different from known.
Yet both are adjectives. Here there is no change of class or part of speech.

Inflectional affixes do not ereate new lexemes. They just add grammatical
information (such as tenze to the verbs, person or number to the nouns.or degree
to the adjectives) to existing lexemes. To see it for yourself study a particular entry
in a standard dietionary. To understand this point, look at the following table :

Root & | Class/ Affix I Type of | Word after|] Class Type of Mature of
Stem Pari of speech affix atfixation change allixation
gate Moun -5 suflix gules MNoun Change in | Inflection
=3 Wil " u_u:_u_l:;lm' [
great | Adjective -er suffix greater Adjective | Change in | inflection
degree :
graze | Verb -d suffix grazed verl Chunge in | Inflection
tense }-

This table shows three different cases of affixation, all of which are inflections,
In the first case, the plural marker -s (an affix) is added to a noun gate. The word
after affixation is gates. The only change that takes place here is that gates s the
plural form of gate. Both the words are nouns. The meanings are not essentially
different, Plural affixes are inflectional affixes. Gates is just a form of the lexeme
gate. Gates would not be listed separately in the dictionary; it is just a furm of the
dictinary word gate. In the second case, a comparative degree marker -er comes in
the form of an affix and is added to great. The words great and greater arc not
different in meaning; they are only different forms of the same word, In the third
case, the past tense marker -d is also an inflectional aflix. Grazed does not mean
something different from graze. The aflix -d just adds some grammatical contextual
information (tense), it does not change the entire meaning. Both graze and grazed
are verbs, You may also note here that inflection invelves no change in the class of
the words. In all the three examples, the class is intact. '

Derivation, in contrast to inflection, produces a word which belongs to a difierent
‘paradigm’. A ‘paradigm’ can be understood as a new set of meaning, The easiest
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way to understand the change of paradigm is to see if a new lexeme (a new
dictionary entry) is created. For example, a derivational suftix such as -dom, when
added to king, produces a new work kingdom. We must note that the word king
and its derivative kingdom belong Lo different sets of meaning. They are two
different entries in the dictionary. King refers to a person whereas kingdom
refers to a territory. We can draw a similar table to understand how derivation

works :
Root &  Class/ Affix | Type of | Word Class Type of Nature of
stom Part of nffix after change affixalion
speech allixation

act Verb -0r | Suffix actor Nour Frorm Dérivation
action Lo
agert

porform Verb -ance Suffix perfurmance | Noun From Blerivation
action to

| evcnt_

kind Adjective -ness Suffix kindness Mopaes From Derivation

quality Lo
| attribute

Vietiom MNoun e Suffix viclimize Verb Feom Derivation

persan ko
. . N ;ﬂt.‘_t_il:.‘rtl

history Mo jan Buffix historian Woun From [¥erivalion
subject to
Iil:li'ﬁl.:lﬂ.

depend Verb -able Sulfix dopendable Addjective | From Derivation
action Lo
quality

Now to understand the operation of both inflection and derivation together, let
us take examples like kings and kingdoms. Both king and kingdom, as nouns,
may take the plural marker (inflectional suffix) -s to form kings and kingdoms
respectively, Let us see the formation of these two words.

kings

e

king
(root & stem)

-8

(inlectional suffix)
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b, kingdoms Stage three

e R

kingdom (stem) -s(inflectional suffix) Stage two
king -dom
(root & stem) (derivational suffix) Stage one

Do you notice the difference between the word-formation 131*(:::-.‘:3335 of the two
above? To elaborate, in the first case, there are only two stages. Al stage one, king
(working as both root and stem at the same time) is added to the inflectional suffix
-s and in stage two, they are seen as a complete word. We call il a complete word
since no new affixes can be added toit, The addition of an affix will produce only an
ungrammatical word, e.g. ¥*kingsdom,

In the second case, there are three stapges. At stage one, king (working as both
root and stem al the same time) is added Lo the derivational sulfix -dom, The
product, kingdom, is scnt to stage two, where it takes an infleetional soffix -s.
Finally at stage three, the word formation process is complete where the word
kingdoms appears as a complete word.

In theoretical analysis of the morphology of languages, the distinction between
inflectional and derivational morphology is very important. Taking the words
employing and employed as examples, we can assunie that there is a lexical stem
which they have in common — employ. Infleetional morphology, as we have scenin
our first table, is concerned with the manner in which these lexical stems are
combined with grammatical markers for things like plurality, degree and tense,
The appropriate selection of grammatical markers depends on the class of the stem,
for example the degree marker can be added to only the adjectives and Lense to Lhe
verbs — it is not possible in English to add tense to nouns, for instance (*lamped
from lamp, and so on). You must note that the concept of a lexical stem is an
abstract one. Otherwise it would not be possible to explain the invelvement of
plurals in' English words such as men and children, The inflectional system of
English 15 rather poor. There are languages which inflect for many more markers
thun English — gender, case, and noun and verb elasses are typical examples. In
linguistics, the study of inflectional morphology alone is a vast field.

Whereas inflectional morphology studies the combination of stems with
grammatical markers, the job of derivational morphelogy is to investigate Lthe
construction of the slems themselves. Typical eases of derivational morphology
involve the English ‘class-chunging' suffixes which form adjectives from nouns,
verbs from nouns, nouns {rom verbs, and so on, as the following examples illustrate:
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a. Fool —  foolish
Noun - Adjective

b. Advert —  advertise
Noun - Verb

c. advertise —  advertisement
Verb - MNoun

At a later stage, appropriate inflectional morphology applics on the resulting
lexical stems and therefore we get forms such as advertised and advertisements.
In practice there are still a lot of dispute over the distinction between inflectional
and derivational morphology as it is not always very clear-cut in some languages.
The classification of a particular morphological process may not be a straightforward
matter always, However, for our purposes the elassification explained above will he
sufficient,
. To make sure that you have understood the points discussed above, try to solve
the Exercise no. 4 below,

2.2.6 CLASS CHANGING AND CLASS MAINTAINING
DERIVATIONS:

Derivational affixes are of two types, class changing and class maintaining
derivational affixes. The distinction between them is very casy to understand. If,
after affixation with a derivational affix, the new word has the same class (i.e, part
of speech) as the original word, the affix is called class maintaining derivational
affix. For example, when the suffix -hood is added to the stem boy and forms the
word boyhood, the part of speech orclass does not change. Both boy and boyhood
are nouns, The suffix -hood i3 a class maintaining derivational suffix.

On the other hand, take a suffix like -ment. Its addition to a word like develop
results into a word development, Notice that whereas develop’was a verb, the
word development is a noun. Here, -ment is a class-changing derivational suftix,
To understand the difference throughly, look at the morphological analysis of the
following words :

hardships (ultimate word)

hardship (stem) -5 (inflectional suffix)

hard (root & stem)  -ship (class changing derivational suffix)
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unemployment

e

un-{prefix) employment (stem)

. T

employ (root & stem) -ment (class changing derivational suffix,)

kinghthood
/,/" g

kinght (root & stem) ‘hood (class maintaining derivational suffix)

' 9.9.7 MORPHOLOGICAL REPRESENTATION

Modern morphologists think that one can write rules to describe possible words,
For example, the prefix un- is added to adjectives to create new adjectives, as in the
formation of the word unintelligible. We can write this fact as a rule

adj] — un + adj

This rule says that an adjective can congist of un- plus an adjective (in that
order},

Just like the module of syntax involves syntactic phrase structure rules to draw
syntactic trees, morphological rules can be used to create trees showing word
structure. Following is a tree for the word unhappy :

dj
un- A||Llj
happy
Similar trees can be drawn for the words writer, cat and rewrite :
2 B /\
Vv -er cat re- v
write . _ wrile

Things are a little more complex when there are more than two morphemes ina
word. The word unhappiness has three morphemes, so in theory there are twao
ways to draw the tree, as shown in (a) and (bl
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a. N b, N

e | 7N

un- N - Adj -1ess
Adj -1Eess un- Adj
ha‘pp}' | ha|m:-:r

Only one of these is right. In (a), the prefix un- adds to the noun happiness. In
(b), the suffix -ness adds to the adjective unhappy. In both cases, -ness adds to an
adjective to make a noun, so we can’t distinguish the trees on this basis. But notice
that in (a) un- adds to a noun, and in (b), un- adds to an adjective. We have already
seen that un- can add to adjectives (unhappy, unlucky, unsatisfied). But can it
add to a noun? *unluck, *undog and *unkitchen are all impossible words. We
cannot give any example of un- adding to a noun. Therefore (a) cannot be right and
(b) is the correct tree,

There are also two ways that we could draw a tree for unlockable :

(a) (b)
o 2
W able un- Adj
S
un- v v -able
IOL]-: | ]n|c1{

In (a), un- adds to a verb, and in (b) un- adds to an adjective. We have already
seen that un- can add to an adjective, can it add to a verb? Yes, il can : untie,
undress, unpin, undo. This is a different un-, It means something like “reverse
the process of”. So which one of (a) and (b) is correct? They both are. (a) and (b) mean
different things. :

{a) able to be unlocked.

(b) not able to be locked.

Unlockable is ambiguous, because it corresponds to two possible structures,

2.2.8 COMPOUNDING :

Compounding is a very interesting and productive process of word formation, In
this process, two morphemes get together to form a new morpheme. The two
morphemes which participate in compounding are always two stems. Affixes,
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either prefixes or suffixes do not take part in compounding. They are added, if
necessary, to the compound word. Examples will make it clear. See the following
words : '

houseboat  blackboard  muailbox  aircrafl textbook  fingerprint

Notice that in each of them there are two frec morphemes, Each of them works
as stem. Notice one more point that the right-hand stem works as a kind of head,
The word houseboat means a kind of ‘beat’ and not a kind of ‘house’,

Considering that two morphemes get together to form a compound, let us discuss
a few more properties of the compounds. Let us go step by step.

A compound has two stems; call them A and B, In the compound mailbox, A
stands for mail and B stands for box, Notice that here both A and B are nouns. So
we can say that it is a Noun-Noun compound. In other words, each stem has « clags
or part of speech, Tt is the elass of the right hand stem, i.e, B, that the compound
word gets as its class. Other than Noun-Noun compounds, there are other types of
compounds also, such as Adjective-Noun compounds, Noun-Adjective compounds,
Adjective-Adjective, Adjective-Verb, Preposition-Noun compounds ete, Look at the
following compounds and their class !

Adjective-Noun : wildlife

Noun-Adjective ¢ class-conseious  accident-prone

Adjective-Adjective ¢ long-lasting short-lived

Adjective-Verb - :  cross-examine drv-elean ill-treat  deep-fry
Preposition-Noun . putdoor underground downhill upstream  overhead

The stems A and B cannot have inflections prior to compounding, That is the
reason why we do not get words such us *longer-lasting, *accidents-pronc or
*mails-box. But if the compound i3 a noun, we can attach plural infleetions to it, for
example, mail-boxes, houseboats, housewives, penfriends cte. We can
represent them in trees in the following way :

N Adj
N/\s(inﬂm:tiunﬂl suflix) N Adj
l\/\N : accident prone
[ {stem) (stem)
pen friend
(stem) {stem)

The stems that participate in compounding can be a combination of two
morphemes, one free and one bound, But it is seen that usually it is the sccond stem,
i.e. B, which is of this type. For example, truck-driver, absent-minded, old-
fashioned, well-dressed, mouth-watering, good-looking cte. Look at the
morphological analysis of one of them;
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N N

|

truck (stem) driver (stem)

\'4 -er (class changing derivational suffix)

drive (stem)

Now if you are asked to analyse truchdrivers, how will you do it? Just add one
more layer above the topmost node ;

N Levels of word formation
N -g(inflectional sulfix) INFLECTION
/\ *
N ' N :
truck (stem) driver (stem) : COMPOUNDING
Vv -er (class changing DERIVATION

derivational suffix)

drive (stem)

2.3 MORPHOPHONEMICS :

Morphophonemics is the study of how sounds alternate in particular morphemes.
Morphemes and allomorphs are concepts parallel to phonemes and allophones,
Morphemes have variations, which are called allomorphs, The rule that determines
the phonetic form is a morphophonemic rule which ig usually determined by both
the morphology and the phonology. For example, the three alternate phonetic
forms that correspond to the English morpheme -s for plural.

We can approach the subject of morphophonemics from the notion of allomorphs.
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An allomorph is an alternative manifestation of a morpheme while it is understood
as a set of meaningful linguistic units. Allomorphs vary in shape or pronunciation
according to their conditions of use, but not as to meaning.

Here are some example of allomorphs. In English, the negative prefix in- has
several allomorphs:

@ in-capable

@ il-lopical

@ im-probable

® ir-reverent

Morphophonemies is the study of phonemic differences between allomorphs of
the same morpheme. It is a description of variations in a particular language. It
looks after the phonological conditioning of allomorphs, In other words, it is the
study of the phonemic structure of the allomorphs. It monitors the changes that
morphemes undergo in certain environments.

2.3.1 ALTERNATIONS :

When different phonemic shapes represent a morpheme, they are called its
alternations. Now, what do we understand by ‘different phonemic shapes™
Sometimes, one morpheme is represented by a single phonemic shape. Take for
example the following words : :

pay piys paying payer payece payment
Here the ease 18 very simple. In all the words, the root and stem pay has the
phonemic shape /pei/, The addition of suffixes does not change its phonemic shape.
It is phonemically unaffected by suffixation. But all morphemes of English are not
so unaffected by the contexts. There are complicated cases. Some morphemes take
different shapes in different environments. The changing phonemic shapes are
called ‘alternations’. There are two kinds of alternations, regular and irregular.
A regular alternation oceurs most frequently under stated conditions. For
example, Enpglish plural and tense markers /s/, /z/ and /iz/ are phonologically
conditioned regular alternations, Their occurrence can mostly be predicted by
rules. We know the phonemic shape of the plural in the words cats, dogs or horses
or the phonemie shape of the present tense markers in sleeps, goes and browses.
The regularity involved here can be deseribed by saying that /s/ follows voiceless
sounds except voiceless sibilants, /2/ follows voiced sounds except voiced sibilants
and /iz/ follows voiced and voiceless sibilants. i
These can be represented by—
Eng plu morph — s/ vl sounds___#
Eng plu morph —» 2/ vd sounds___#
Eng plu morph —> iz/ s sounds___#
However, beds and clubs are exceptions.
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Irregular alternation occurs in the cases which eannot be described in terms of
a rule. To understand this, look at the following data of plural formation :
OxX * oxen
man —3 miern
child — - children

The phonemic shape of the plurals in the above words cannot be predicted by any
rules. Moreover Lhese are 1solated cases. We do not have *foxen, *hen, #{loldren as
plurals of fox, ban and field. This substantiates the point that plurals of ox, man
and child are irregular alternations.

There are cases of alternation which can be called ‘semi-regular’. The most
appropriate example of this-is the group of seven verbs — buy, think, seck, teach,
bring, ecatch and fight. These verbs, while turning into past tense, follows a
relatively less irregular pattern. Look at their past forms : bought, thought,
sought, taught, brought, caught and fought. How do the phonemic shapes
manifest themselves? The answer is, the stems lose everything except the initial
consonant or the consonant cluster, then the vowel is added; and finally the past
tense morpheme lakes shape with the inclusion of a /t/. The most irregular
allernation is shown in that of the past form of the verb go. The words go and went
have absolutely nothing in common. This isolated example of irregular alternation
iz called ‘suppletion’ or ‘suppletive alternation’,

Alternations can be either phonemically or morphemically conditioned. The
most appropriate examples of phonemically conditioned alternation are the two
shapes of English indefinite articles a and an. Look at their environment in the
following noun phrases :

‘@ man

a rich man

an honesl man
an MA in Knglish

The only tactor to be considered for the selection of a or an is not grammatical,
but phonological. We need to see what is the first phoneme of the next word;
whether it is a consonant or a vowel, If'it is a consonant, a is the shape of the article
that comas; ifitis a vowel, an is the shape of the article that appears. Therefore Lhe
alternation of the articles a and an is said to be phonemiecally conditioned.

An example of morphemically conditioned alternation is the choice between
phonemic shapes of fwait/ (as in singular wife) and /waiv/ (as in plural wives) of the
morpheme wife. Consider the following examples where -s oceurs after wife :

Expression nature of -s

My wife's hat (possessive marker)
My wife's coming with me {contraction of is)
My wife's never been there {contraction of has)
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In these cases what is required is the phonemic shape /wailf and not the shape
fwive/, though there is an -s following it. So we conclude that it is not the sound of
-s that determines the alternation of /waif/ but the morphological (and grammatical)
status of it. The alternation /waiv/ is required only when it is followed by a plural
-3, otherwise not.,

2.4 SUMMING UP :

Morphology is the siudy of word formation and structure. It studies how words
composed of their smaller parts and the rules governing the process. The elements
that are combining to form words are called morphemes, A morpheme ig the
smallest meaningful unit that a lanpuage has. It has a semantic and a grammatical
function. Morphology as a module of grammatical system of a language depends on
Phonology and Syntax. The knowledge of morphology creates an awareness of
meaning at a sub-lexical level. It allows the teacher to deconstruct a word and
consider its component parts for teaching.

2.5 GLOSSARY :

Affix : a bound morpheme that occurs attached to another morpheme (called the
root or stem), Prefixes (attached to the beginning of the root or stem; ex. : debrief,
unwind, antisemite) and Suffixes (attached to the end; ex.: algebraie, weakness,
boyhood) are the most common types of Affixes. Less common in the world's
languages are Infixes inserted within the root or stem).

Bound morpheme : a morpheme that functions as part of a word but cannot
stand alone as a word. Ex.: -ment (as in establishment), -er (painter), and plural
morphemes. |- s (as in zebras) ete.].

Derivational morpheme : a morpheme that serves to derive a word of one
class or meaning from a word of another class or meaning, Ex, ; -mnent {as in
establishment), which derives a noun from a verb, and re- (repaint), which alters
the meaning (paint again),

Free morpheme : a morpheme that ean stand alone as a word (opposed to
bound morpheme). Ex. : zebra, paint.

Intlectional morpheme : a morpheme used to create variant forms of a word
to mark the syntaetic function of the word in its sentence. Kx. ¢ the suffix -s (as
in eats) indicates that the verb agrees with a third person singular subject; the
suffix -ed indicates the past tense for regular verbs,

NOTE : In English ALL inflectional (syntactic) morphemes are suffixes.

Lexicon : the list of all words and morphemes of a language that is stored in
a native speaker's memory, the internalized diclionary.

Monomorphemic word : a word that has a single morpheme and that is
therefore indivisible Ex.: 1, God: love; aardvark; crocodile.
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Morpheme : the smallest meaningful unit; the most elemental unit of meaning;
from the Greek morphe — form. A morpheme may be represented by a single sound,
by one syllable, or by several syllables. Morphemes cambine according to the
morphological rules of the language.

Morphology : The study of word formation, of etymology (origin of words), and
of the internal structure (the organizational principles) of words,

Root : It is the main morpheme; it has lexieal content and affixes are attached
to it. Ex, ; glamour is the root in “glamorous” or "unglamorous.”

Suppletive form : It is an alternate from, not predictable by regular or peneral
rules; in other words, an exception. Ex. : man/men; phenomenon/phenomena: go/
went; hold/held.

Tense : It is a category of the verb that expresses time reference, for example as
past (walked) or present (walk).

Zero form ¢ a morpheme that has no phonological representation, Ex. : the past
tense of the verb hit is hit, the plural of sheep is sheep.

2.6 REVIEW QUESTIONS :

1. Following is a list of words. Identify the {free and bound morphemes in them:
rethink, discomfort, happily, unimportant, honestly, kindness, cruelty,
computerize, readership, reorpanize, impossible, indecent, grammarian.

Do it this way :

happiness rethink
FM BM BM FI"I.{
happy -Ness re- think

FM = free mﬂrphﬂfne; BM = bound morpheme

2. Collect several examples of four kinds ;
® From a written source (dictionary, newspaper}

@ Words you've heard spoken

® Words that you make up (‘'new words’).
Notice their morphological make-up and try to analyse them.
3. Identify prefixes, suffixes, roots and stems in the following words:
unimportant, tribal, confusion, insufficient, boredom, scholarship, preference,
mispronunciation, antiestablishment, unaccountable, underdeveloped,
unidirectional, unconstitutional, anticlockwise, discover, discomfort, nationlalize.
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4, FILL IN THE EMPTY BOXES TO COMPLETE THE CHART

Root & Class/ Affix Type of Word Class r:,.rpt‘ of | Nature of
gtem part of affix after change affixation
speech affixation
person  Noun  -al | pursonal Adjective L ;
i 0 Novh suflix treatment P L i )
graco Moun disprace Noun |
Whalk Verh walleed J

5. Write mnrphalﬂgmal representations w1th labelling the classes (N, V, ete.) of
the following words:

short-tempered, window-shopping, fingerprints, horse-traders, weckends,
6. Write a short note on morphophonemics of English,

7. Do you think that knowledge of morphophonemics can help you teach spelling.
in English? Substantiate your answer with examples,

8. How is the knowledge of morphology going to help you teach grammar to
young learners?

2.7 BIBLIOGRAPHY :(*Marked books are for further refrence of students)
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University Press.
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UNIT 3 0 STRUCTURAL SYNTAX

Structure
3.0 Introduction
3.1 Immediate Constituent Analysis
3.2 The structure of predication
3.2.1 The structure of complementation
3.2,2 The structure of modification
3.2.3 The structure of subordination
3.2.4 The structure of Co-ordination
3.2.5 Non-contiguous IC structure
3.3 Summary
3.4 Review Question
3.5 Transformational Generative syntax
3.5.1 Introduction
3.5.2 Limitations of the strueturalist model
3.56.3 Cases of structural ambiguity
3.5.4 Cases of constructional homonymy
- 8.5.5 Cases of deletion
3.5.6 Cases of paraphrase relation
3.5.7 Summary
3.5.8 Review Question
3.6 The Noun Phrase (NP) structure
3.6.1 Basic Sentence (or Clause) Patterns
3.6.1.1 The NP with premodifier(s)
3.6.1.2 NP — Ordinal - N
4.6.1.3 NP — Quantifer - N
3.6.1.4 NP — Adj. Phrase - N
8.6.1.5 NP — Classifier - N
3.7 Review Question
3.8 The Noun Phrase with Prepositional Phrase
3.8.1 NP modified by another NP as a post modifier
3.8.2 Two or more Noun Phrases conjoined
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3.8.3 NP Containing a Relative Clause
3.8.4 NP as a Complement Clause
3.8.5 Review Questlion
3.8.6 The Verb Phrase
3.8.7 Review Question

3.9 The structure of the Sentence
3.9.1 Heview Question

3.10 Summary

3.11 Recommended Reading

3.0. INTRODUCTION : >

We have already seen that the structural linguists (1920-1960) rejected the
traditional grammarian’s model of linguistic analysis because of what they called
‘fallacies’, In our units on Phonology and Morphology you have already seen how
methodical the structuralists were and how structure-based their descriptions
were (Please remember that our courses on phonology and morphology are
basically structural phonology and structural morphology). At the level of Syntax
also they were highly meticulous aboul making linguisties a science and capturing
the syntactic interrelations between the constituents rigorously and scientifically
without any dependence on meaning or ‘logic’.

3.1. IMMEDIATE CONSTITUENT ANALYSIS :

The framework of syntactic analysis used by the structuralists is known as
Immediate Constituent (IC) analysis. In this system their objective was to capture
the interrelations between the immediate constituents in a structure, meaning,
where clements are immediately related to each other in the structure. In other
words, they made a distinction between constituents and immediate constituents,
Let us consider the following sentence.

Sharmila likes mangoes.

There are three constituents in this sentence, But the syntactic interrelations
betwoeen the three are different from each other. A constituent analysis (not
immediate constituent analysis) of this sentence might only capture the linear
constituency relations between the three constituents, But how these three are
hicrarchically related will also have to be captured for which the structuralists
postulated the framework of immediate constituent analysis. An illustration of
the above sentence will help you understand the point. The sentence - Sharn. la
likes mangoes — has at the highest level of hierarchy immediate constituency
relation between ‘Sharmila’ and ‘likes mangoes’, And then ‘likes’ and ‘mangoes’
are immediate constituents of each other at the next lower level of hierarchy, We
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can represent this immediate constituency relation by using the following box
diagram: r

Sharmila likes Mangoes,

Here 1 and 2 are immediate constituents and 3 and 4 are immediate
constituents. The important point is that 1 and 4 are not immediate constituents
though they are constituents in the same structure. The basic presupposition is
that all the constituents in an utterance do not carry equal syntactic load or enjoy
equal syntactic status. Their syntactic status is determined by their position in
the syntactic hierarchy.

You will have noticed from this diagram that the linguists have used bracketing
convention to capture the IC interrelations, And this bracketing convention they
have borrowed from mathematics, This bracketing helps to disambipuate
structures and their interrelations which are otherwise ambiguous.

Let us congider the following problem :

Ix2+7=7

The answer to this pmhlﬂrﬁ could be either 18 or 27 because this structure is
ambiguous. The ambiguity lies in the order of application of the two processes —
multiplication and addition, If we apply multiplication first and addition next we
get 13 but if we apply addition first and multiplication next we get 27, In order
to dizsambiguate the structure the mathematicians use the bracketing convention,
For example,

() @x2)+7=13

but, (ii) 3 x(2+7)=27

See that the ambiguity is resolved and for (i) you can have only one answer 13
(and not 27) and for (ii) you can have only one answer 27 (and not 13).

* This bracketing principle has been used by the structural linguists for resolving
ambiguity in linguistic structures, Let's lake the following linguistic structure:
fntelligent boys and girls '

This is an ambiguous structure beecause ‘intelligent’ may refer to *hoys and
girls’ (both buys and girls are intelligent) or on the contrary, it might refer to only
‘boys’ and not girls (boys who are intelligent and girls). The ambignity lies in the
scope of modification of the adjective ‘intelligent’. By using the bracketing
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convention (box diagram is basically a bracketing convention) we can disambiguate
this linguistic structure in the following way:

(1) Intelligent boys | | and girls

e

~ Here ‘intelligent’ modifies both boys and girls.

(ii) Intelligent| | boys | | and girls

L

Here ‘intelligent’ modifies only ‘boys’ and ‘girls’ are outside the scope of
modification.

This model of syntactic analysis is known as Immediate Constituent analysis
{or 1C analysis). And the structuralists not only capture the relalions between
the constituents in a structure by bracketing them but also by labelling them.
Without the labels the bracketing system would be inadeguate and inexplieit.
The labels used by them can be categorical labels, like noun, verb, adjective, ete.
or functional, like subject, predicate, verbal complement, head, modifier, ete, As
functional labels in linguistic structures capture functional interrelations between
the immediate constituents, they are more insightful and explanatory compared
to categorical labelling. And, therefore, in this course we have used this functional
labelling. Let us now add functional labels to the diagrams given above.

(1)  Intelligent boys J ‘ and ‘ srinls ‘
- Independent unit Co-ordinator  Ind. Unit
Modifier Head
(ii)  Intelligent ‘ boys | and girls
_Moditier Head
Independent Unit Co-ordinator  Ind. Unit
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In our IC analysis framework we will follow the structuralists’ five structures
which they evolve in terms of five sets of functional interrelation.

1. The structure of predication

2, The structure of complementation

3. The structure of modification

4, The structure of suhnr-dina!;iun

6. The structure of co-ordination,

3.2. THE STRUCTURE OF PREDICATION :

In the structure of predication the structuralists use hinary cuts to arrive at
two immediate constituents — Subject and Predicate. This means that in this
gtructure one of the two immediate constituents will have to be Subject and the
other one Predicate. (Here the structuralists have used these two categories
more or less the same way as the traditionalists),

Now congider the following sentences !

e Yasmeen J Lpussed away '
Subject Predicate
2. The book on the table is mine “
Subject Predicate
3.  |That he is very intelligent| | is beyond doubt [

Subjeet Predicate
3.2.1 THE STRUCTURE OF COMPLEMENTATION :

This is also a binary structure in which one constituent is ‘verbal’ and the other
one is ‘complement’, For example,

4. John is. a teacher

verbal complement

Subject Predicate

In this structure the complement is prammatically a complement in the sense
of traditional grammar. In traditional grammar they say that a complement is an

38



element withoul which the sentence remains incomplete and ungrammatical,
Therefore, in structures with be-type or become-type verbs the verb will be
functionally called verbal and the elements following the verb will be the

complement.

Consider the following sentences with be-type and become-type verbs.

b.

He looks tired
verbal complement
Subject Predicate
(look’ is a be-type verb)
He became | | an administrator
verbal complement
Subject Predicate
The milk| | turned sOur
verbal complement
Subject Predicate -
(‘turn’ here is a become-type verb)
He got terribly annoyed
verbal complement
Subject Predicate

{.‘get' is a become-type verb)

There are a number of such verbs which function as be-type/become-type
verbs: ‘look’, ‘appear’, ‘seem’, ‘turn’, ‘got’, ‘happen’, ete,

In addition to complements being marked or labelled as ‘complements’, the
structuralists treat objects also as complements. So a sentence with a transitive
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verb and its object(s) will be captured the same way. Look at the following examples,

g, The teacher loves her pupils
verbal complement
Subject Predicate
10. She cats fried cockroaches
B verbal complement
Subject . Predicate

“You have just seen that the verbal-complement structure is casy to capture
when the verb is a monotransitive verb (a verb with one object). But it will be
difficult Lo caplure the interrelations between the objects of a ditransitive verb
(a verb having two objects), If we treat the verb as verbal and the two objects
together as complement then we will find it difficult to capture the syntactic
relation between the two objects. Examine the [ollowing sentence

211, He taught ’ tne linguistics

verbal complemont
Subject Predicate

Are the two objects me and linguisties really immediate ¢constituents? Your
sense of Enpglish and intuition about the structure will tell you that me is
immediately related to taught, as well as linguistics is immediately related to
taught. (He taught me and he taught linguistics — appears to be the meaning).
Thercfore, me and linguisties cannot be immediate constituents. So linguists
capture the syntax of this sentence in the following way:

He taught me linguistics

verbal | |compl,

verbal complement

Suhbject Predicate
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(Please note here that it is not very scientific to call the verb + the first ohject
as the verbal but this is the better of the two options in the framework.)

Let us work out a few more sentences with this structure.

12. He asked ‘ me ‘ to do it immediately.
verbal ' mmpl.|
verbal complement
Subject Predicate

(The infinitival phrase ‘to do it immediately’ is the second object of the
ditransitive verb ‘asked’.)

13. 1 told him | |that John was leaving for England.
verbal | |compl.
verbal complement =3
Subject Predicate

(Here the that-clause is the second object.)

3.2.2 THE STRUCTURE OF MODIFICATION :

In this binary structure of modification we have two elements — Head and
Modifier. Modifiers usually perform adjectival or adverbial functions. But any
element modifying another will be called a modifier and that which it modifies
will be called a head. Look at the following examples:

14, A mystery
Mod.  Hcad
133, All those | |wonderful | | Ionesco ‘plajrs
Mod. Head
Mod. Head
Mod. Head
Mod. Head
16.  If you touch her || 1 wi]IH kill\ you
(Mod. Headl
Verbal Compl.
sSuhbj. Pred.
Modifier Head
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17. When she talks the | |whole ‘wurld listens

Mod. Head
Mod. Head =il

Subject Pred.
Modifier Head

Now let us examine the difference between the two apparently similar
structures given below.

18. (a) They sleep in the library.
Head | Modifier
Subject Predicate
18. (b) They are in the library.

Verbal  Complement
Subject Predicate

In 18(a) ‘in the library’ functions as a modifier of the Head verb ‘sleep’ and it
is not a complement because we can stop after ‘sleep’. But in 18(b) the same
element is a complement as it oceurs after the verb be (are), Thus the funetional
labelling in IC analysis helps us to capture the gtructural interrelations in a

unigque way.

3.2.3 THE STRUCTURE OF SUBORDINATION :

In this binary structure one immediate constituent is subordinator and the
other is dependent unit, Look at the following examples:

19. The girl is in the [ car
Mod. ‘Head
_ 1:Subord. Dependent unit
Moaod. LHesﬂi Verbal Complement
Subject Predicate

(The preposition in subordinates the following noun phrase the car,)
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20. To H orr s H human.

Subord. Dep.Unit| |Verbal Complement
Subject Predicate

(Here the infinitive to subordinates the verb phrase err)

21. John (|’s ‘ father|| is a ‘teachn‘ar.
Dep, Unit Subord|| |Mod. Head
Mod. Head ||Verbal Complement
Subject Predicate

(Here the possessivizer ('s) subordinates the noun phrase John,)

22, When|| she || talks the | lwhole | [world | {listens,
B i 1 LMcrd, Head
Subj. Pred. Mod. Head
Subord. Dependent Unit Subject predicate
Moaodifier Head :

(Here the subordinating conjunction when subordinates the sentence
she tallkks which is reduced to a subordinate clause to the main elausc
the whole world listens.)

3.24 THE STRUCTURE OF CO-ORDINATION :

This is the only structure in IC analysis which is non-binary, The immediate
constituents in this structure, therefore, will be more than two — Independent
unit - Co-ordinator - Independent Unit. The total number of independent
units could be as many as possible depending on the structure:

23, John st H Mary

Ind. Unit Co-ord. | ]Ind. Unit

24, John Mary Dick and Sam

Ind, Unit Ind. Unit Ind. Unit Co-ord. Ind. Unit
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25, I went | | there and she | | came || away
Head | | Mod. Head Mod.
~ Subj. Pred. Subj, Pred.
Ind. Unit Co-ord, Ind. Unit

26. She came conquered

‘ gaw H and

Ind. Unit Ind. Unit Co-ord. Ind. Unit
Subj. Pred, -

Look into the following structures.

This framework of syntactic analysis is different from that of the traditional
grammarians, The structuralists’ claim that they could analyse any sentence in
a language within this framework appeared to be valid during the heyday of
American structuralism. This model of syntax could even capture ambiguity and
resolve it to a certain extent by showing two different sets of interrelations in two
different IC structures.

217. (a) Baby swallows fly

Verbal Compl.
Subj. Pred, )
(The meaning captured is ;: Baby swallows the fly.)

27.(b) Baby | [ swallows fly
Mod Head
Subject Predicate

(The meaning captured is : Little swallows fly.)

28. (a) Three| |extraordinary| | physicians ' 3 mAagazines
DU, || Sub.
Mod. Head
Mod. Head
Mod. Head
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28. (b) Three| | extraordinary }physicians magazines
Mod, - Head
Mod. Head
Dependent Unit Sub.
Mod. || Head

3.2.5 NON-CONTIGUOUS IC STRUCTURES :

Ilements belonging to the same constituent may not always oceur in their
normal word order. This is true of all human languages. Sentences having such
constituents with displaced word order present certain problems in IC analysis.
Consider the following interrogative sentence:

29, Have you gone crazy ?

Here the verbal unit have gone is non-contiguous because of the inversion.
The auxiliary element have has been shifted from its normal position to the left
of the subject NP you. In such cases the linguist would show the discontinuous
elements first, rewite them, and then label them,

Stepl: | Have | you | gone crazy?

| Subj.
Pred. Pred.

Step 2 : This sentence may be rewritten as

You haveHgnne Crazy.
Mod. Head|
Verbal Compl.
Subj, Predicate

Let us consider a few more sentencos with discontinuant elements.

30. He has |already|done it.

Rewritten as : Has he done it already?




31. Neit‘nermnhn nor | Jonathan could do it,
I

Rewritten as : John neither nor | Jonathan || could do it.
] | Mod. Head||
Ind. Unit Co-ord. Ind. Unit Verbal  Comp

Subject Predicate

3.3. SUMMARY :

Now that we have presented the structural model of syntax in a simplified way
rather briefly, you could possibly say that there is nothing revolutionary in this
framework, But in spite of it there ig no denying the fact that this mode| had a
significant role in the development of the later models of syntax in modern
linguistics. It systematized traditional formulations following its own theoretical
stance, The framework was first outlined by Leonard Bloomfield in his Language
{1933) and later elaborated and formalized by the Bloomfieldians. The framework
has many weaknesses and limitations and cannot answer many questions
satisfactorily but it has drawn our attention to innumerable questions that it has
raised, And in the process of trying to understand these questions and solving
these problems about language and linguistics, this model appears to be
inadequate, mindless and mechanistie, consequently leading to the birth of a
more adequate and effective model of syntactic analysis proposed by the new
generation of linguists,

3.4. REVIEW QUESTION 1 :

A. Give immediate constituent analysis of the following English sentences,
Use topless box diagrams:

(i)  Drink wet cement and get really stoned.

(i) As you sow so you reap.

(iii) Whenever I feel the world is moving too fast T go to the post office.
(iv) His wife asked him tu clean the dishes.

(v) I told her not to play on the railway lines,

(vi) He seems to be an honest politician.

(vii) But honesty is the best policy.
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B. Capture the ambiguity in the following structures through immediate
constituent analysis:

(i} She gave her dog biscuits.

(ii) The mayor asked the police to stop drinking at midnight.
(iii) She wanted the bucket on the mat with holes in it.

(iv) He wants to meet the girl in the library,

(v) The report that the students are studying is true.

3.5 TRANSFORMATIONAL GENERATIVE SYNTAX :

3.5.1 INTRODUCTION::

In the preceding part of this unit on syntax you have had some idea about the
model of syntactic analysis within the structuralist paradigm. This model
continued to be the most dominant model of syntax during the four decades of the
20" century from the twenties through the fifties. But the inherent weaknesses
of this framework started showing themsolves in different levels and with respect
to various syntactic structures. As a result of this, the basic assumptions of this
approach were questioned and its theoretical foundations were shaken. A
completely new model of syntactic analysis was proposed as an alternative to the
structuralist model by Noam Chomeky in his famous book Symtactic Structures
in 1957, This proposal came in the form of a challenge to American structuralism
and hence is known ag the Chomsky revolution. In the following sections we will
try to look into this Chomskyan model of syntax and see why this model is called
revolutionary.

3.5.2 LIMITATIONS OF THE STRUCTURALIST MODEL:

The model of linguistic analysis proposed by the structuralists had its
foundations in Behaviourism in Psychology. As a result, the structuralists’ notions
about language, linguistic data, objectives of linguistic study and procedure
used in linguistic analysis were firmly rooted in their commitment to the
behaviouristic model of understunding language, language use, language
organization and language acquisition.

(i) The structuralists looked upon language only as a form of behaviour — they
called it ‘verbal behaviour’ and they never believed in anything ‘mentalistic’ or
‘cognitive’ about language, They thought as Bloomfield says in his Language
(1933), “Language is the totality of utterances made in a speech community.” So
language for them was the total number of sentences produced by the native
speakers of a language.

But Chomsky rejected this notion about language. Under the influence of
cognitivism, he understood language as a mentalistic activity. The sentences or
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utterances produced are only what Ferdinand de Saussure called ‘parole’.
Language is not merely the produet but, more importantly, the process responsible
for the product. This innate, intuitive judgement about sentence formation, about
the well-formedness of utterances is language and this is what Chomsky calls
‘competence’. And, thercfure, the scientific description of language has to be a
scientific description of this ‘linguistic competence’,

(i1) For the structuralists, data for linguistic analysis would be a ‘linguistic
corpus’ — a phonetically transeribed version of native speakers' speech collected
through informants which the linguist considers to be a representative sample.

But the Chomskyans would consider the whole of a language as data, For them
the data is also ‘linguistic competence’.

(i1i} The poal of linguisties [or the structuralists was to identify data, record
it, describe it within their descriptive framework, and finally classily data into
categories or classes at different levels of representation. You will remember
that they did apply this prineiple of identification and classification at the level
of phonology — speech sounds first identified and then classified as vowels/
consonants, high vowels/low vowels, plosives/fricatives/nasals, ete. At the level
of morphology and syntax the same practice continued and we had various
classifications of morphemes, words and constituents of a sentence. The
structuralist did perform this activity of classification quite rigorously and
meticulously in order to make linguistics an autonomous science.

But is ¢lassification or should it ever be the ultimate goal of a science? Chomsky
calls it a lower level science as it is taxonomic (classificatory). It fails to capture
what a science {or an empirical science) does, So the Chomskyans would say thal
linguistics has to construct a comprehensive theory on language, if it has to be a
seience in the real sense of the term. The structural linguists have failed to give
us any empirical theory which would explain language organization and language
acquisition.

Only a transformational generative model of grammar could adequately capture
language through empirical theory construction and raise linguistics to the level
of a science.

(iv) And the procedure for languapge study, therefore, cannot be the
structuralists’ procedure which is highly ambitious (they used ‘discovery
procedure’), but a procedure which is less ambitious and workable (the
Chomskyans call it ‘evaluation procedure’). The structuralists, therefore, had a
‘physicalist’ approach to languape (language as ‘verbal behaviour’). They could
conceive of language only in its sentential reality or surface reality. For them the
utterance or the sentence as produced was the only reality to be captured. So the
sentence was explained by them in terms of the linguistic interrelation that was
visible or perceivable at the level of the surface reality, This led to their inability
to account for innumerable linpuistic structures in which surface level evidence
was inadequate for explaining them.
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In order to show that dependence on the surface level of the sentence is in
itself a limitation for the real or adequate explanation of the S}'ntHLLu reality,
Chomsky presents a few cases of structural interrelations.

3.3.3- CASES OF STRUCTURAL AMBIGUITY :

We saw earlier that certain cases of structural ambiguity could be resolved
within the structuralist syntactic framework. But there are other cases of
structural ambiguity which cannot be explained in terms of the available surface
interrelations between the constituentsfimmediate constituents of a sentence.
For example, let us examine the following structure:

Visifing | | relatives| | can be a nuisance,
_Mod. _ Head |
Subject Predicate

The structuralist would capture only one meaning of the ambiguous structure
—visiting relatives - in the above way of treating visiting as modifier of the Head
relatives, And, as we can see it, the meaning captured is — Relatives who visit
(someone) can be a nuisance, But any speaker of English intuitively knows that
this structure has another meaning — For somceone to visit (his) relatives can
be a nuisance. And this second mecaning cannot be captured by the structuralists
in their IC analysis framework,

This shows that the grammar of the language fails to capture what the native
speakers perceive. The grammar can give us only half the truth, and, therefore,
according to the transformationalists, is not an adequate model of scientific
description. An effective model of grammar must capture the two meanings (on
the basis of two different sets of interrelations between the constituents) : (i)
relatives subject and visit verb (ii) visit verb and relatives object. Then only
the structural ambiguity in this sentence can be accounted for and resolved.

3.3.4 CASE OF CONSTRUCTIONAL HOMONYMY :

When two structures are similar but are not understood similarly, they are
said to have constructional homonymy. Look at the following sentences:
Jonathan is easy to please.
Jonathan is eager to please.
These two sentences are structurally similar, Both have the construction —
Subj Noun Phrase + Verb + Adjective + Infinitival phrase
\: 1 ! 1

Jonathan + is + easy/eager +.to please o
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But in spite of this apparent similarity these two sentences are understood
differently. The first sentence, as you know, means “It is easy to please Jonathan”,
but the second one means - “Jonathan is eager for (Jonathan to please someone)”.
This meaning difference is due to the difference of the syntactic relations betwoeen
Jonathan and please in the two structures, Whereas in the first sentence please
is the verb and Jonathan is its ohject (someone pleases Jonathan), in the second
sentence Jonathan is the subject and please is its verb (Jonathan pleases
someone). The structuralists, it is argued, cannot capture this difference in their
syntactic analysis of these sentences: they would treat them similarly as they
appear to be similar in the structure on the surface. So structural syntax fails to
capture once again (as in the cases of structural ambiginity} what the native
speakers capture intuitively.

Please consider the following cases of constructional homonymy:

1. (a) The plucking of flowers.

(b) The rising of the moon.
2, (a) The visitors are asked to leave the hall by the president.
(b) The visitors are asked to leave the hall by the side door.

3.5.6 CASES OF DELETION :

Sometimes in a language two different sentences appear as one due to the
deletion of some elements from their basic structures,

‘Mary loves linguistics more than her husband,’ This sentence appears to have
structural ambiguity beause it has two meanings. But this ambiguity can be
resolved if we can reconstruct the sentence in its original structures (two
structures).

(a) Mary loves linguistics more than her husband (loves linguistics).

(b) Mary loves linguistics more than (she loves) her husband. From these two
sentences — (a) and (b) — the elements in the backets have been deleted, thereby
leading these two sentences to the same structural configuration. Thus the
ambijruity in the sentence can be resolved in terms of the feature of deletion.

But the structuralist explanation for this sentence would not be able to capture
the ambiguity as they have no mechanism to retricve deleted elements because
of their theoretical position that a sentence is what appears as the speaker’s
speech and not what the speaker intends to speak. They do not believe in anything
‘understood’ or ‘underlying’ or ‘deleted’ in a structure.

Once again, the structuralist model of syntax fails to capture the native speaker’'s
intuition about cases of deletion. '

3.5.6 CASES OF PARAPHRASE RELATION :

Let us consider the following sentences:

1. (a) The police diverted the traffic.
(b) The traffic was diverted by the police.
(¢) The traffic was diverted by the country road.
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Sentences 1(a) and (b) are constructionally different but they are understood
similarly by the native speakers of English, And sentences 1(b) and (¢) are very
similar in structure but understood differently in spite of their apparent
similarity. On the basis of their surface similarity the structuralists would give
similar syntactic deseription for 1(b}and (c) and because of the structural difference
between 1 (a) and (b) they would give different structural confipurations for 1(a)
and (b). This means the grammar goes contrary to the native speaker's intuition,
We know that 1(a) and (b) are active and passive counterparts of the same sentence
and they have paraphrase interrelations between them. On the other hand, in
1(b) the prepositional phrase by the police is understood not as a mere
prepositional phrase but as the by + NP structure in a passive construction
where the NP following by is the real agent subject; in 1(¢) by the country road
is understood as a prepositional phrase (indicating direction) and the agent is
not present in the structure. This fundamental difference is perceptible to the
native speaker and therefore, has to be captured in the syntactic configuration,
But the structural grammarians fail to capture it. They fail because they can’t
capture pal‘aphraée relation between 1(a) and (b) and constructional homonymy
between 1(b) and (e).

3.6.7 SUMMARY :

These and many other kinds of syntactic structure that the structural linguists
fail to analyse the way the native speakers understand them primarily because
they analyse sentences as they are in their surface manifestations. But the surface
structure is a level, as we have seen already, where the real or logical
interrelations between elements in a sentence are not always captured, The
surface structure hides a lot of things which the native speaker's intuition can
find out and, therefore, an adequate and scientific model of grammar should also
{ind out. If the surface structure is not a reliable level for verification of actual
relations or undistorted relations between the constituents of a sentence, the
grammar needs to go to a level where these are visible and capturable. Following
this line of argument Chomsky realizes that the complete dependence on the
surface structures of sentences is the reason for the structuralist syntax to have
been so inadequate, incomplete and, therefore, ‘unscientific’ in the right sense of
the term, .

Please notice here that the pendulum has once again swung to the other
extreme. Those who rejected the traditional framework on the ground of its
" ‘unscientificness’ are being discarded by the linguists of the latter school on the
same ground, Chomsky's argument seems to be that the structuralist model is
inherently incapable of handling human language which has various levels of
understanding and syntactic interpretation.

That is why Chomsky says that a really adequate grammar of a language has
to be “an externalization” of native speaker’s ‘competence’. We have to assume,
therefore, that the ‘surface’ reality of a sentence is not the only reality; there is
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ancother linguistic reality of a sentence beyond this surface reality, And Chomsky
calls this reality the ‘deep structure’ reality. So he postulates that every sentence
has to be studied and captured in terms of these two levels of representation —
the surface structure level and the deep structure level. We need the deep
structure representation of a sentence because the surface structure does not
give us the ‘whole truth’ about a sentence. And our postulation of the deep structure
would help us to identify and explain all kinds of sentences — actual as well as
potential. For Chomsky, therefore, the deep structure is the leve] for semantic
representation, It is that level where all real and logical interrelations between
elements in a sentential configuration are captured. So it is this level that helps
us to capture all the meanings of a sentence,

But Chomsky's postulation has a number of implications. In order to capture
semantic representation at the level of the deep structure the linguist has to
construct a set of rules (Syntactic rules) which will ‘generate’ the deep structure
of a sentence (‘generate’ in generative grammar means not to produce, but “to
explain or enumerate explicitly”), At that level semantic interpretation(s) will
take place and after that the deep structure will be mapped on to its surface
structure with the help of another set of syntactic rules. The lirst set of rules
Chomsky calls Phrase Siructure Rules (PSR) and the second set of rules are
Transformational Rules (1'R). So his scheme of grammar is something like the
following

Syntactic¢ component
Phrase Structure Component
(PS Rules) _
4 Semauntic Component
DEEP STRUCTURE — MEANING —
|
i LANGUAGE

Transformational Component
(T Rules) ——| Phonological Comp. J
SOUNDS —

This somewhat detailed discussion was necessary for you to understand the
theoretical pusition of the framework ealled TG (Transformational Generative)
Grammar, It was also relevant for your understanding of the development of
grammar during the last several decades. Now you are familiar with all the three
schools of linguistic analysis and their strengths and weaknesses to a certain
extent. You have already seen that TG is not a modification of structural grammar.
It is a replacement of the structural framework. Therefore, you will see form now
on a different approach in syntactic analysis where we will capture or try to
capture interrclations between elements at the level of the deep structure,
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3.5.8 REVIEW QUESTION -2 ;

(i) Mention two major weaknesses of structural prammar.,
And briefly explain why we call them weaknesses. (100 words)

(ii) What is constructional homonymy? Give examples. (60 words) -

(iii) What is the difference between ambiguity in structural ambiguity and
ambiguity due to deletion of elements ? Give examples and illustrations.
(60 words) -

(iv) What does Chomsky mean by ‘deep structure’ in transformational
grammar? What are the motivations for postulating ‘deep structure’?
(150 words)

Now that you are familiar with the theoretical position of the generative
grammarians, we can get into the details of their practical analytical framework,
We have told you already that this framework tries to capture a structure the way
the speakers of the language understand it.

Our plan is to begin with the parts of the sentenee like the noun phrase, the
verbal group, the verb phrase, ete. and their constituents and then capture the
sentence as a higher unit. And in doing 80 we will not get guided by the surface
relations but by the Deep Structure relations, And the most convenient device for
doing so will be the use of the tree diagram, The tree and its branches will give us
the constitutional picture of the sentence from the point of view of the native
speaker's intuition about the sentence,

3.6. THE NOUN PHRASE (NP) STRUCTURE :

We have already mentioned that a Noun Phrase is a part of a sentence. But
before discussing the noun phrase we must clearly state what we mean by a senlence,
Many traditional grammars (traditional school grammars, to be precise) define a
sentence as a group of words which “express a complete thought”. This definition
is not very satisfactory because we may not be very sure about : “whatis a complete
thought?”

Take for example the following seniences:

(1) My neighbours were shouting at each other very loudly.,

(2) I could not concentirate on my studies,

(8) My neighbours were shouting at each other very loudly and I could not
concentrate on my studies,

If(1) expresses a complete thought and (2) also does the same, what is (3) then?
Duoes it express one complete thought or two? But you all know that all of Lhese
three are sentences. We find the question raised here a little disturbing because
the definition of a sentence as an expression of a complete thought is meaning
based and therefore, vague, The structuralists banished meaning from the domain
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of linguistics because of this, But we know that the transformational generativists
reinstated meaning, though very cautionsly, in linguistics, They recognized meaning
as an important element in language but did not use meaning as a criterion or tool
for analysis.

In our syntax course, therefore, we will define ‘sentence’ by trying Lo capture its
features, both functional and structural, in a variety of ways at the same time,
Collins Cobuild English Grammar (1990) defines Sentence in the following
way:

Sentence: a group of words, which express a statement, question or command.,
A sentence usually has a verb und a subject and may be a simple sentence, consisting
of one clause, or a complex sentence, consisting of two or more clauses. A sentence
in writing has a capital letter at the beginning and a tull stop, question mark, or
exclamation mark at the end.

So ‘sentence’ is defined comprehensively in terms of (i) funclions (statement,
question, command), (ii) constituents (Verb, Subject), (iii) types (Simple, Complex)
and (iv) punctuation.

A sentence, thus, can be of three (or may be four) types — simple, having one
independent clause. complex, having one independent ¢lause and one or more
dependent clauses, eompound, having more than one indepent clause and
compound-complex which has more than one independent clause and one or
more dependent clause(s).

Simple sentence: John loves Mary,

Complex sentence; If you work hard, you will do better.

Compound sentence: John loves Mary but Mary hates John.,

Compound-complex sentence: He is a fool and you know that fools rush in where
angels tear to tread.

This classification of sentences i3 similar to that in traditional grammar to a
great extent. But there are differences also, In modern syntax we use terms like
clause and phrase very differcntly, For us, a clause is more comprehensive and
inclusive. Verbal structures with <ing and structures with the infinitive to + Verb
Phrase will be treated as clauses (non-finite), For example, the following sentences
have clauses in them which the traditionalists would call phrases : :

{a) She wants to live for hundreds of years.

(h) She enjoys listening to music.

{The underlined elements are clauses in modern grammar. These two sentences
in oursyntactic analysis, therefore, are treated as complex senten